LTLOOODOOO0O00O0O0D0O00000D0000

obooobo90143066 0O OO0 OO OO

1 00

go-ooboooobooboboobooobooboooo
poooboboboooobobbooobobobooooobobboo
goo0O0ooOobOOooOobOOoboobDOobOOoboOobobDoboDo
goooboboooobobbooobobbooooobobboo
00000000000 LTL(Linear-time Temporal Logic) O
gooooboboOooooobobboooooobbooooooo
poooboobobbooooobobbooooobobboooooboo
oogd

2 0000O0O0O0OOOO0OOOoODOoOObOOOoOoDOo

ooooooOoOooOO0oO0oO0OOoOoOo0O0O0OO0 Gy OOoOOooo

goood
Gy = (X Zar, A, o)

0000Xy000O00000000000X, 0000000
Ay CXyxEyxXy 00000000000z € Xar O
000000000000000000%y =%5,U%Y, 00
000000X4,000000000000000000000
000000000000000XY, 00000000000
00000000000000000000000000000
000000000000000000000000000
00000 2, € X, 00000000 Iy : Xy — X;000
0oooooo
0000000000000000000000000000
00D0000000000000000000 27 € X/
O LTL Uy, 00000000000 Olpen O ey € X4, U
{emp}0maen C X; 00000000 (ep, Tman) 000000
00 LTLO0OO0000000000%y 0000000 Tyman
0000000000000000000” 000000000
O0ey =emp0000000000000000000000
ooo

0000000000000 00000000000oono
00000000000000000

Gv = (Xv,3v, Av, zvo)
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Tran = A lman = ((a, {C})U(a, {B}))
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Lman = (r, {MEDIUM}) A X (r, {LOW2}) A XX (a, {HIGH1})
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